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	Activity: GLS 4 - Improved Decision Making

	BUS300 Unit 4 Activity
Activity #1
Consider the following historical scenarios and then, indicate which nation is Superpower A within each scenario, the former Soviet Union or the United States of America.

"The government of a country not far from Superpower A, after discussing certain changes in its party system, began broadening its trade with Superpower B. To reverse these changes in government and trade, Superpower A sent its troops into the country and militarily backed the original government." Which country is Superpower A?

"In the 1960s Superpower A sponsored a surprise invasion of a small country near its border, with the purpose of overthrowing the regime in power at the time. The invasion failed, and most of the original invading forces were killed or imprisoned." Which country is Superpower A?

Using the following scale how confident are you of your answer?

Not confident at all 1 2 3 4 5 6 7 8 9 Very Confident

Answer: Feedback: The first scenario describes the 1968 Soviet invasion of what was then, Czechoslovakia, and the second describes the American invasion of the Bay of Pigs in Cuba. Most people miss at least one of these problems, despite whatever confidence they feel. In November of 1984 Philip Zombardo and Scott Plous published the results of a reader survey that contained both of these problems and a variety of others on superpower conflict. Based on responses from 3500 people, the authors were able to conclude that respondents were unable to tell American and Soviet actions apart suggesting that Americans were condemning Soviet actions and policies largely because they were Soviet and not because they represented a radical departure from American policy. Secondly, the authors found that people’s confidence ratings were virtually unrelated to their accuracy (the average correlation between confidence and accuracy for each respondent was only .08, very close to zero). 

Activity #2:
1. Absinthe is:
• A liqueur
• A precious stone

2. What is the probability that your answer is correct? (Pick only one).
.50 .55 .60 .65 .70 .75 .80 .85 .90 .95 1.00

3. Can you use the information above to validly assess calibration?

4. Why or why not?

Answer:

For Questions 1 and 2: Most of the original respondents to these types of questions tended to be only 70 to 85 percent correct when they reported being 100 percent sure of their answer. The correct answer is that absinthe is a liqueur, although many people confuse it with amethyst which is a precious stone.

For Question 3: No.

For Question 4: A decision maker is perfectly calibrated when, across all judgments at a given level of confidence, the proportion of accurate judgments is identical to the expected probability of being correct. When individual judgments, such as this one, are considered alone, we cannot adequately measure "calibration." The only way to validly assess calibration is by comparing accuracy and confidence across hundreds of judgments.

Activity #3:
Suppose each of the cards below has a number on one side and a letter on the other and someone tells you: "If a card has a vowel on one side, then it has an even number on the other side." Which of the cards would you minimally need to turn over to decide whether the person is lying?

 

E

 

 

K

 

 

4

 

 

 

7

 

Answer:

The correct answer is E and 7. The rule being tested is "If vowel, then even number" or more basically, "if X, then Y". The only way to falsify an if-then statement is to find an instance of "X and not Y" (i.e. vowel and odd number). When Peter Watson and Phil Johnson-Laird (1972) put this type of question to 18 university students, they found that "E and 4" was the most common response (given by 59 students), and "E" was the next most common (given by 42). In other words, most students chose to turn over cards capable of confirming the statement. Only 5 students gave the correct answer "E and 7".

Activity 4:
As the president of an airline company, you have invested $10 million of the company’s money into a research project. The purpose was to build a plane that would not be detected by conventional radar, in other words, a radar-blank plane. When the project is 90 percent completed, another firm begins marketing a plane that cannot be detected by radar. Also, it is apparent that their plane is faster and far more economical than the plane your company is building. The question is: Should you invest the last 10 percent of the research funds to finish your radar-blank plane? Why or why not?

Answer:

Researchers found that 85 percent of their subjects recommended completing the project, even though the finished aircraft would be inferior to another plane already on the market. When a second group of subjects were given a version of the problem that did not mention prior investments, only 17 percent opted to spend money on the project. Why? What trap was in operation?

Activity #5:
What principles were demonstrated in each of these situations? What do these principles and models imply about the ways in which we make decisions? Can any of these phenomena be avoided or diminished? Why or why not? Consider your responses to these questions, revisit your assignment list and then share your ideas with others in the discussion room.


	Questions and Answers

	Question #1
What is meant by calibration and why is it important?
Calibration is the degree to which confidence matches accuracy. A decision maker is perfectly calibrated when, across all judgments at a given level of confidence, the proportion of accurate judgments is identical to the expected probability of being correct. In other words, 90% of all judgments assigned a 0.90 probability of being correct are accurate, and so forth. 

When individual judgments are considered alone, it doesn't make much sense to speak of calibration. When, however, we begin to consider our choices over an extended period of time, then correlating our level of confidence with our actual performance gives us the means for assessing the accuracy of our judgments. 


Question #2
How can overconfidence be reduced?
In a pair of experiments on how to improve calibration researchers found that people who were overconfident could learn to be better calibrated by giving them feedback on their performance. In other words, overconfidence can be unlearned, but few people will ever attend special training sessions to become better calibrated performers. Indeed, why should they? What would be more useful is a technique that decision makers can apply from judgment to judgment in a variety of situations. There does appear to be such a technique. Stated simply, the best method for reducing errors associated with confidence levels is stopping to consider reasons why a judgment might be wrong. 


Question #3
Are there other strategies available for dealing with miscalibration?
There are several additional strategies available for improving calibration including flagging, recalibrating, converting, and

· Flagging: Flag certain judgments for special consideration. Overconfidence is greatest when judgments are difficult or confidence is extreme. In such cases, it pays to proceed with caution. 

· Recalibrating: Recalibrate your confidence judgments as well as the judgments of others. If a decision maker is 90% confident but only 70 to 75% accurate, it probably best to treat the 90% confident as if it were only 70 to 75% confident. 

· Converting: You might also want to automatically convert judgments of 100% confident to a lesser degree of confidence. Remember that 100% confidence is especially unwarranted when predicting how people will behave. 

· Disconfirming: Above all else, revert to the simple and best method for reducing errors by considering reasons why a judgment might be wrong.


Question #4
What is the Pygmalion Effect?

The Pygmalion Effect refers to the association between expectation and fulfillment, in short, self-fulfilling prophecy. Self-fulfilling prophecy is, in the beginning, a false definition of the situation evoking a new behavior which makes the originally false conception become true. The specious validity of the self-fulfilling prophecy perpetuates, however, actual error.
Question #5
If self-fulfilling prophecies change a misconception to a truth, why is it damaging to decision making?
Self-fulfilling prophecies are never based on a true condition. They begin with a false premise that is then borne out as a consequence. The implications for society, at large, can be enormous. Consider, for example, the potential damages of educational, gender, or racial stereotyping. Treating others “as if" a false belief is true, can lead to actual performance behaviors on the part of the others, leading to the conclusion that the initial belief system was, in fact, correct when in truth it is completely in error, and in most instances, morally suspect.


Question #6
How can confirmation biases and self-fulfilling prophecies be avoided?
Although research on this question is scant, one strategy may be to focus on motivational factors. While another valuable strategy may be to frame questions in a way that encourages disconfirming answers. Finally, considering our assumptions and analyzing why they might be wrong can also be effective in eliminating self-fulfilling prophecies. 


Question #7
What are traps?
In 1980, Cross and Guyer (1980) published a taxonomy of traps and countertraps. In their words, "countertraps [sins of omission] arise when we avoid potentially beneficial behavior, while traps [sins of commission] occur when we take potentially harmful courses of action." There are several distinct types of traps each with a corresponding countertrap. Generally, however, traps can be divided into five categories: time delay; ignorance; investment; deterioration; and collective traps. Let's look at each of these. 

· Time delay traps: In time delay traps momentary gratification clashes with long-term consequences. What is striking about both the trap and its corresponding countertrap (avoiding momentary unpleasantry) is that relatively small pains and pleasures in the short run are sufficient to produce behavior that is devastating or potentially lethal in the long run. 

· Ignorance traps: In these traps, the negative consequences of behavior are not understood or foreseen at the outset. Ignorance traps are, in fact, common when new life paths are chosen. 

· Investment traps: These traps occur when prior expenditures of time, money, or other resources lead people to make choices they would not otherwise make. In other words, these traps result in "sunk cost effects." 

· Deterioration traps: Deterioration traps are similar to investment traps, except the costs and benefits of behavior change over time. These traps, referred to as "sliding reinforcer traps" occur when initially rewarding courses of action gradually become less reinforcing and/or more punishing. 

· Collective traps: Unlike all other traps, collective traps involve more than one party. In collective traps, the pursuit of individual self-interest results in adverse consequences for the whole group.


